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RA [Zig0A ZRT HEARS | ERERS | EAEE | &F
B RHBENA PR SCHUT 23083201001 75.60 78.72 =
B, ZRHEBEANA FeN e e gil] 23083202002 79.20 77.40 7
B RKHENA BB ST 23083301001 76.40 74.48 =
B, ZRHEBEANA FolleEE =g il 23083302002 77.60 79.52 7
. RHBFNA =2 &£ il 23083402002 81.20 79.04 B
H—. “RKHEFANA 15 R U 23084211001 76.40 79.76 =
B KBNS =2 &£ il 23084402002 80.80 81.76 B2
B=. VUREENA = A S 23085201002 78.40 76.24 B
F=L NUSRHEENS R BT 23085202002 76.20 78.36 =
B=. URHENA ek ez ] 23085202003 80.20 81.82 =
B=. URHEANA = R BT 23085211002 69.40 70.54 5
B=. PURHENA & AL T 23085214002 81.20 76.46 =
F=L VURHEANA YIHAE SC U 23085301002 79.80 76.86 B
F=L VURHAEANA YIHAE ST 23085301003 72.60 73.08 5
B=L VUREENA A H A M 23085302001 74.00 80.48 5
B=L VUREENA A A M 23085302002 76.20 81.36 B
E=. TURHE AL A ) EE T 23085311001 72.60 72.30 &
B=. URHE NS A ) EE T 23085311002 77.40 71.40 S
B=. URHENA A ) EE T 23085311003 71.60 71.42 S
B=. PURHENA A1 3 5 0 23085313001 73.60 75.10 5
F=L VRHEANA | VIhiEES G 23085325001 81.20 77.24 &
B=. VURHEANA INEEAE SO 23085401001 78.20 77.12 &
B=. VURHEANA INEEAE SO 23085401003 74.80 76.96 &
B=. VUREENA INEE SR 23085403001 77.00 74.48 B
E=. TURHEANA JN ST T 23085403002 76.20 74.88 7
E=. TURHE AL JN ST T 23085403003 78.80 73.88 5
B=. URHENA PR AU 23086201002 77.20 75.22 S
E=. TURHE AL PR AU 23086201004 79.60 75.34 7
B=L VURHEANA = ST 23086201005 81.00 77.22 B
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F=L VURHEE NS e A T 23086202001 83.00 76.34 2
F=L VRHEE NS e A O 23086202004 78.20 74.36 &
F=L VURHEE NS e A T 23086202006 83.20 80.20 2
B TURHEAS o T T 23086203001 75.60 79.26 2
B TUREEAS o T T 23086203002 77.20 77.86 2
B TREEAS e A ER T 23086211001 77.20 81.10 2
B TURHEAS e A ER T 23086211003 77.80 74.08 2
F=L VURHEE NS o R BT 23086211005 76.40 71.66 %
F=L VURHEE NS o B BT 23086211006 80.80 77.26 2
F=L VURHE NS e A 22 BT 23086214001 76.20 77.58 2
F=L VURHEE NS e A 22 BT 23086214002 e E
B TUREEAS W B SCEUm 23086301001 75.60 76.62 %
B TURHEAS W B SCEUm 23086301002 75.60 77.52 2
B TURHEAS WIH HEE BT 23086303001 81.40 75.46 2

=\ VUREEAS WIH HEE BT 23086303003 76.60 78.82 2
H=L VEREEAS LILEYE: ES 23086311001 69.40 80.20 2
H=L VEREEAS LILEYE: ES 23086311002 73.00 74.20 2
F=L MURHEE NS LR SV 23086313002 79.40 79.16 2
= WERHFEBAAS W] R TE B8 5 R U 23086325001 72.20 71.24 4
B TUREEAS AN SCEUM 23086401002 79.60 77.62 &
F=L WURHEE NS AN SCEUM 23086401005 77.80 78.04 B
F=L WURHEE NS AN SCEUM 23086401006 80.20 78.22 2
B TUREEAS AN SCEUM 23086401011 81.20 79.82 2
F=L VURHEE NS N UM 23086402001 79.00 76.60 &
F=L VRHE NS N UM 23086402002 77.40 79.26 2
F=L MURHE NS NN 23086402003 78.20 82.34 2
F=L VURHEE NS N UM 23086402004 76.40 72.80 &
F=L WURHEE NS N BT BT 23086403005 79.40 73.88 i
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BF—. SRHAEAA | PNFIECFIT | 23083401001 80.20 79.60 81.60 P
F—. SRHAEAA | PNFECHIT | 23083401002 80.20 79.60 80.42 &
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